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Q 1. & 5T gRT 1M & Yg TU BT SIS ?

(A) Tsg B) farfa

(C) HTDHRTT (D) AT

Q2. AR R -

(A) FHI (B) T ) 99

Q 3. AT’ Vet HT fadm a1 g ?

(A) 9T (B) I
(C) ®ral (D) «Y

Q 4. Fgfifed ¥ 3 9ier &1 wafgar g T8l @ -
(A) 31y (B) Oich
(O g (D) 3MTHT

Q5. O H S a1 & o U Vg FE A S dH AR 2

(A) SIS (B) SITal

(OEINIS (D) ST
Q6. gEAAHTTTR -

(A) 39 (B) | (C) I

Q 7. ufaeur & Iui g 2
A" (B) 3f Q) R

Q 8. Aa-UaT A P AT A § ?
(A) qgd (B) &g
©) f&1 (D) HHYRY

Q9. FUAI B F adNIgt g ?
(A) simeffare (B) 3fraia
(C) eimefaic (D) 379 9 it

Q 10. 75 &7 g 9fY - o @
(A) T + 3 (B) 7 + 3

(€ I+ 3 (D) 399 A B3 gl

(D) &

(D) ufd



Q 11. Select the correctly spelt word:
(A) Jewellery (B) Definition (C) Beautiful

Q 12.Select the synonym of word glorious.

(A) Enormous (B) Unusual

(C) Splendid (D) Gentle

Q 13. Select the antonym of word barren

(A) Fertile (B) Futile

(C) Ugly (D) None Of These

Q 14. Choose the suitable preposition in the following sentence
| was born__26 January.

(D) All Of These

(A) On (B) In (C) At (D) Since
Q 15. Select comparative degree of bad.
(A) Worst (B) Worse (C) Better (D) Well
Q 16. Select the one which best expresses the sentence in passive voice
Sheela was writing a letter.
(A) A letter was written by Sheela (B) A letter was being written by Sheela
(C) A letter had been written by Sheela (D) A letter is being written by Sheela
Q 17. Yesterday |___a movie
(A) Have Watched (B) Watch Have Been
(C) Watching (D) Watched
Q 18. Life story of a person written by someone else
(A) Autobiography (B) Autocracy
(C) Biography (D) Democracy
Q 19. '‘Bad blood’ meaning is__
(A) Bitter Relation (B) Dishonest (C) To Leave (D) None
Q 20. Write the plural of tooth
(A) Teeth (B) Tooths (C) Both A And B (D) None



Q21. YR & HN U4 fpa e Tl P B A § -

(A) Tz Rig AR (B) 313 HaT
(C) ST 3TPR (D)t T
Q22. IPL 2024 i & gad 7em faacs s a1 | ?
(A) I w1 (B) Sfds ok

(C) Ae% Rig 4t (D) R g

Q 23. 319 & ¥ d5a 3 IEAT & gl ya W dfeT
FRA ATE g1 BT UHHTH S HRA &1 8 39 faig Bl
7 fean g ?
(A) YR AT
(C) g fga

Q 24. T4 g & TR 397d UrUIE SS9 H YR &1 i
JYEG ?

(A) 4 at (B) 111af

(C) 126at (D) 80ai

(B) fra wifga
(D) 51T &t H

Q 25. 8T 81 H 2024 # frd vl &Y YR 3@
eI far T g 2

(A) 2 (B) 3

Q4 (D) 5

Q 26. HRA & TAHH H AP JR& JAGHR DI g ?
(A) 3 e (B) #HIS ¥ig
(C) Sfoitd ST (D) STy Rig

Q 27. WM AT SRR §aTs 311 el W fRYd § ?
(A) SR (B) 3rdent
(C) TRt (D) 3fgHaEIG

Q 28. YR & FUFd 4o H YT I TS HT 1 8T

B H Jeae JT G fear man g ?
A) it I (B) 3idSHR UTh
(C) 3Hd I (D) 3TH Y BIS Tol

Q 29. 4R oid § & IdHH TaR P g ?
(A) Xfdaewid o™ (B) gAY Sft IS
(©) 3IRfT 3R g (D) At Harwor

Q 30. 759 Turds feaw & wre Juft § TdAy Siwt 1
RIHR Shd- arelt Iod fAaferfaa H 3 g -

(A) foBR (B) I U

(C) IWIES (D) IS

Q 21. The Minister of Agriculture and Farmers Welfare
of India is -

(A) Narendra Singh Tomar
(C) Anurag Thakur

(B) Arjun Munda
(D) Piyush Goyal.

Q22. Who has become the most expensive player in
IPL 2024 auction ?

(A) Mitchel Starc

(C) Mahendra Singh Dhoni

(B) David Warner
(D) Rinku Singh

Q 23. Recently, India has become the only country in
the world to land Chandrayaan 3 on the south pole of
the Moon. What name has been given to that point?
(A) Bharat Mata (B) Shiv Shakti

(©) Jai Hind (D) Jai Shri Ram

Q 24. What is India's position in the recently released
Henley Passport Index?

(A) 4th (B) 111th

(C) 126th (D) 80th

Q 25. How many people have been awarded Bharat
Ratna recently in 20247

(A)2 (B)3

©4 (D)5

Q 26. Who is the present National Security Advisor of India?
(A) Anil Chauhan (B) Manoj Singh
(C) Ajit Doval (D) Rajnath Singh

Q 27. Where is Bhagwan Valmiki International Airport located ?
(A) Jewar (B) Ayodhya
(C) Varanasi (D) Ahmedabad

Q 28. What has the name of the Mughal Garden
located in the Rashtrapati Bhavan of India been
changed recently?
(A) Gandhi Udyan
(C) Amrit Udyan

(B) Ambedkar Park
(D) None of these

Q 29. Who is the present Governor of Reserve Bank of India?
(A) Shaktikant Das (B) Raghunath ji Rajan
(C) Urjit R Patel (D) Nirmala Sitharaman

Q 30. The state which won the best tableau award in
the state category on the 75th Republic Day is which of
the following -
(A) Bihar

(C) Uttarakhand

(B) Uttar Pradesh
(D) Orissa



Q 31. I HRA BT AR fHA HyT oA g ?
(A) HRAR (B) BHHRR
(C) SR (D) SIgcqR

Q 32. PIABTAT g 7¢I & T WA G © ?
(A) T (B)
(C) e (D) gTeit

Q 33. UNTST FHEl HTAH JA @ ?
(A) ToRTd (B) UeW
(C) g (D) TSI

Q 34. A9 99 9 3R Hgl g ?
(A) 3199 (B) Ufgy e
(C) IRTS (D) ISRTd

Q 35. e St & Ty = Fefifea 4 g ?
(A) ITeTUTC (B) wrifaaq
(C) wifd =i (D) 79 A P T&l

Q 36. HRATY Rofd s B RITHAT Bl 3T AT ?
(A) 1 30 1935 (B) 1 S8 1956
(C) 1 SHaRT 1949 (D) 535 1965

Q 37. PN A feas Ha 7RI Sl § ?
(A) 8 ATd (B) 10 fadsR
(C) 4 TR (D) 13 BRad

Q38. YR TET HRIG BT TuH YR Afger srees i ot 2
(A) Tt 9 (B) TR 1ag
(C) fopur ot (D) TTH A DTS T

Q 39. Fafefad & § fawr-Sfg T T 8 2
NEEEZ (B) Tg&
(C) PR (D) feew

Q 40. Scd FT MATHR fooe fopar o7 ?
(A) TT8H & (B) S TT TS
(C) urAE TfET= (D) 9 3reed

Q 31. Who is called Manchester of North India?
(A) Bharatpur (B) Kanpur
(C) Jaipur (D) Jabalpur

Q 32. Kolkata is situated on the banks of which river?
(A) Ganga (B) Teesta
(C) Narmada (D) Hooghly

Q 34. Where is Manas Wildlife Sanctuary?
(A) Assam (B) West Bengal
(C) Jharkhand (D) Gujarat

Q 35. Which of the following is the burial place of Gandhiji?
(A) Rajghat (B) Shantivan
(C) Shanti Sthal (D) None of these

Q 36. When was the Reserve Bank of India
established?

(A) 1 April 1935
(C) 1 January 1949

(B) 1 July 1956
(D) 5 June 1965

Q 37. When is National Women's Day celebrated?
(A) 8 March (B) 10 December
(C) 4 February (D) 13 February

Q38. Who was the first Indian woman president of
the Indian National Congress?

(A) Annie Besant (B) Sarojini Naidu
(©) Kiran Bedi (D) None of these

Q 39. Which of the following is not a virus-borne disease?
(A) Smallpox (B) AIDS
(C) Corona (D) Tetanus

Q 33. Bhangra is the folk dance of where?
(A) Gujarat (B) Pradesh
(C) Haryana (D) Punjab

Q 40. Who invented the bulb?
(A) Graham Bell (B) J.L. Baird
(C) Thomas Edison (D) Sam Altman



Q 41. YR ¥ fry 31 ¥ FWR & Al B A 37 BT
SRPR UM § ?
(A) 20 T
(C) 18 9%

(B) 21 9§
(D) 24 T8

Q 42. RYFIUT A g7 ST S A B FNPEA T ?
(A) TTEAT (B) G
(C) Tyufc (D) furas

Q 43. YRA T fra 98 B SFRUMT B © 2
(A) 10 B) 9 () 8 (D)7

Q 44. R & 3icR fgar Hdeh faRidht ST SHa Famrn T
T ?
(A) 2005 (B)2006  (C) 2007 (D) 2004

Q 45. rdviHe Ry B frar Sar g ?
(A) Y BT M PP
(B) BXI&R ST Talen

(C) TSHI B 3TSG PP
(D) SWRIad Tt

Q 46. fogm flife 09 o1 sifaseR far ot 2
(A) ST @t (B) & T[eAaH A
ORIEERE] D) TR B

Q 47. g 9y 3afY &l Wda YR & GIR A1H] &

o RT AT ST | ?

(A) 1970 -72 (B) 1975 - 77
(C) 1980 - 85 (D) 1985 - 90
Q 48. RS HUSI Hgl R Hedr g ?

(A) dfHarg (B) TIerId

(C) foBR (REIES

Q 50. forg 9 A I=gan ey & g4 T8l S WBR!
TH ! DI AEATG HISH 1 1o 3R HRA & o TSR
fea?

(A) 2000
(©) 2002

(B) 2001
(D) 2003

Q 41. In India, a person above what age has the
right to vote?
(A) 20 years
(C) 18 years

(B) 21 years
(D) 24 years

Q 42. What is the leader of the majority party in
the assembly called?

(A) Prime Minister (B) Chief Minister
(C) President (D) MLA

Q 43. In how many years is the census conducted
in India?
(A) 10 (B) 9 © 8 (D) 7

Q 44. When was the anti-domestic violence law
enacted?

(A) 2005 (B) 2006

(C) 2007 (D) 2004

Q 45. How is public protest carried out?
(A) By organizing a rally

(B) By running a signature campaign
(C) By blocking roads

(D) All of the above

Q 46. Who invented the printing press?
(A) Jan Logi (B) Berg Gutenberg
(C) Graham Bell (D) Henry Ford

Q 47. Which time period is considered bad for the
media of independent India?

(A) 1970 - 72 (B) 1975 - 77

(C) 1980 - 85 (D) 1985 - 90

Q 48. Where is eroded cloth available?
(A) Tamil NaduO (B) Gujarat

(C) Bihar (D) Punjab
Q 49. Indian............ considers all people equal?
(A) Election Commission (B) State

(C) Code of Conduct (D) Constitution

Q 50. In which year did the Supreme Court order
the government schools of all the states to start
the mid-day meal scheme?

(A) 2000 (B) 2001

(C) 2002 (D) 2003



Q 51. axg-fafma ugfa s Sri g ?
(A) 3fGHT-Saell BT HTUR

(B) I3 PT 3T

(C) Txgaft &1 Al

(D) g3t &1 fAmfor

Q 52. IYHSH B! B Ul TR gaTs S8 ISH & oy
TERI BN & ?

(A) BIH Hed (B) THATY Hed
(C) A HEd (D) sfER Higd
Q 53. T ISR & YHia T SH-SH AT & ?
(A) P I (B) Sa¥

(C) LT (D) ST Tt

Q 54. IgHSH H fpdn ufasrd F1eA SEsiiags 9
BN g ?

(A) 0.03% (B)093% (©)04% (D)0.1%
Q 55. e WIH TAYRIE B I et g ?

(A) TH, =d (B) =fia

() fea # ftg a & (D) 3TH J PIs Tt

Q 56. ISR U9 B frgd UPR B ?

(A) TPpurT gaf (B) Uufurel gar
Q) &u (D) HeI§ER a4
Q57. iy P e ISt T HH A ?

(A) 3B (B) et

(C) T (D) siRIg

Q 58. T I fpaiieR & & I8 aTl @il ol T2 Y
FITPHEAG ?
(A) SIS
(C) 5= U

(B) SETT &F
(D) ST 9fs

Q 59. ST TR Hgl W UL S § ?
(A) Tddl | (B) ST &1 &
(C) Ao | (D) Tty

Q 60. TR & U T P T HET Sldl @ ?

(A) Q&I (B) Ui
(C) e8| (D) I=H

Q 51. What is the meaning of barter system?
(A) Barter trade

(B) Import of goods

(C) Export of goods

(D) Manufacture of goods

Q 52. Which layer of the atmosphere is ideal for flying
aeroplanes?

(A) Troposphere
(C) Mesosphere

(B) Stratosphere
(D) Exosphere

Q 53. What are the three types of seismic waves?
(A) P waves (B) S waves
(C) L waves (D) All of the above

Q 54. What percentage of carbon dioxide gas is there
in the atmosphere?
(A) 0.03%  (B)0.93% () 0.4% (D) 0.1%

Q 55. What are the Gulf Stream water currents?
(A) Hot, cold (B) Cold

(C) Cold during the day, hot at night

(D) None of these

Q 56. What are the types of cedar and fir?
(A) Coniferous trees (B) Deciduous trees

(©) Small (D) Evergreen forests
Q 57. Which is the largest river in the world?

(A) Amazon (B) Nile

(C) Ganga (D) Brahmaputra

Q 58. What is the number of people living in one
square kilometer area called?

(A) Population (B) Population area
(C) Population density (D) Population growth

Q 59. Where are Bengal tigers found?
(A) In the mountains (B) In the delta areas
(©) In the Amazon (D) In the plains

Q 60. What is the grassland of Hungary called?
(A) Ridge (B) Prairie
(C) Downs (D) Velds



Q61. TUAHM BT HH AT e Y | ?
(A) Sig-3mawr (B) 13§ d
(C) PHE-R®B (D) TalTmT

Q 62. Tdfere forft S forg) STt ot 2
(A) ST Y T 3R (B) GT¢ Y 91T 3R
(C) A 3R B M (D) S99 A I3 ol

Q 63. Y AR i R R ?

(A) TR | (B) I &

(C) HERIY H (D) dftrerrg o

Q64. I Yo Seaftrer & 3¢t e RIgRA R 938t ?
(A) 1296 (B) 1236

(C) 1240 (D) 1256

Q 65. AP & AR & SfagTd I Faferd faavor

g o 3 forg g o e § 2
(A) TIHTd- T- fHer] (B) SfHERATHT
(C) IRRG- T- 3feToht (D) 3TH Y P13 Tol

Q 66. 9 & T IR ufyw H T8 arelt fFa=e Senfa
P I ot 2

OELE! (B) AN

(C) 38 (D) ger

Q 67. IS A B ¥ Rigid &1 ufiure foar ?
(A) 3fgdarG (B) gadiG
(C) fafkmarga (D) T9H A HIE T

Q 68. B Y T FHU g o8 el AT STl § 2
(A) HRaATeTH (B) ®YDHal
(C) Ppfergst (D) Surad it

Q 69. UFTd &1 dRIRT TST8 Fa gs ot ?
(A) 1761 (B) 1762
(C) 1526 (D) 1556

Q 70. HeRTST IuTehd R{ig A fafte R agl & R 9
Tl BRI PR [ S{UHT AT T ?

(A) TSTTe (B) TR

(C) 3T (D) FlcH

Q 61. Which religious book is of Muslim?
(A) Zend-Avesta (B) Bible
(C) Quran-Sharif (D) Caliph

Q 62. How was Nastaliq script written?
(A) From left to right (B) From right to left
(C) Both A and B (D) None of these

Q 63. Where is Somnath Temple located?
(A) Gujarat (B) Rajasthan
(C) Maharashtra (D) Tamil Nadu

Q64. When did Razia Sultan, daughter of Iltutmish,
ascend the throne?

(A) 1296 (B) 1236

(C) 1240 (D) 1256

Q 65. Details related to the history of Akbar's reign are
found in which of the following books?

(A) Tabakat-e-Akbari (B) Akbarnama

(C) Tarikh-e-Alfi (D) None of these

Q 66. Which of the following was the powerful tribe
living in the North-West?

(A) Baloch (B) Naga

(C) Ahom (D) Munda

Q 67. Which theory was propounded by Ramanuja?
(A) Monism (B) Dualism
(C) Particularism (D) None of these

Q 68. Which dance forms are considered classical?
(A) Bharatnatyam (B) Kathakali
(C) Kuchipudi (D) All of the above

Q 69. When did the third battle of Panipat take place?
(A) 1761 (B) 1762
(Q) 1526 (D) 1556

Q 70. Maharaja Ranjit Singh made whom his capital
after re-establishing unity among various Sikh groups?
(A) Punjab (B) Lahore

(C) Maratha (D) Karnataka



Q71. gATAD : didl : : pTeAP : ?

(A) ST (B) SregfiaH
(C) d®St (D) T
Q72.3:28::5:7?

(A) 179 (B) 126

(C) 124 (D) 125

Q73. ABCD : WXYZ ::EFGH :?

(A) STUV (B) STOU
(C) STUE (D) TSUV
Q 74. 37H T 3@ B Jifew -

(A) 31T (B) Beal

(C) RSP (D) TSR

Q 75. TR A 75T ¥ 8T R IHald TS &1 g B gat

BT HIE B, 78T &1 TARAw 1 U ¥ Yoy 93T -
(A) 311 (B) Ird
(C) dgd (D) Trd

Q76.°f¢ x dr3f +' 8, + draf - g, b1 3
X' BRI §A6x4-5+2+1=7
(A)11  (B) 15 ) 10 (D) 21

Q 77. Fafafed & firg o1 @ifeu -
(A) i@ (B) BT1Y
(C) 11 (D) AT

Q 78. Tfe fdl 7 &1 T faq FieiaR 81 Y 39

e &1 2541 fa= oI a1 8nm ?
(A) HITIAR (B) AHAR
(C) gHUar (D) AR

Q79 m_m_am_a__
(A) amam (B) ammm
(C) amaa (D) mama

Q80.3ED=3,G =6, ARFUN = 38, T COME = ?

(A) 20 (B) 21
(C) 16 (D) 3TH Y PIs el

Q 71. Conductor : Copper : : Inconductor : ?

(A) Iron (B) Aluminium
(C) Wood (D) Gold
Q72.3:28::5:7?

(A) 179 (B) 126

(C) 124 (D) 125

Q 73. ABCD : WXYZ ::EFGH :?
(A) STUV (B) STOU
(C) STUE (D) TSUV

Q 74. Select the following -
(A) Potato (B) Turmeric
(C) Ginger (D) Carrot

Q 75. Mithilesh said to Neha that the son of your only
brother is my wife's brother, tell the relationship of
Neha with Mithilesh's wife -

(A) Aunt (B) Mother-in-law
(C) Sister (D) Mother
Q76.If 'x"means'’, ' ' means '+', '-' means 'x'

and '+'means '-'then6 x4 -52 +1 =?

(A) 11 (B) 15 (G 10 (D) 21

Q 77. Select the difference between the following —
(A) Eye (B) Hand
(C) Ear (D) Nose

Q 78. If the third day of a month is Tuesday, then
which will be the 25th day of that month?

(A) Tuesday (B) Monday
(C) Wednesday (D) Sunday
Q79.m_m_am_a___

(A) amam (B) ammm
(C) amaa (D) mama

Q80.1f D =3,G =6, and FUN = 38, then COME = ?

(A) 20 (B) 21
(©) 16 (D) None of these



Q 81. "R TP IEE & ?

(A) U (B) TRl

(C) gargsiat (D) ASEH

Q 82. UIY BT I IT HNT YHT YA & foIE arg &
P STS3HRITSS U Pl § ?

(A) 9Td BT oS (B) Y

(C) Tl &1 T (D) dRIGd

Q 83. I guid: U Tl § -

(A) U (B) 48

(C) Bt 3 OESEIS

Q 84. I HIc UTT DI T HeI ST g ?
(A) URT PR (B) AP
(C) A PR (D) T Q PIs &I

Q 85. U 1 Byiep faig Pica TAR R AT ?
(A)37K  (B)298K (C) 373K (D) 100K

Q 86. IerfiHRu Te e Sfiifehar 8, adisy
(A) 3T 3R &R (B) 31T + &al
(C) &R + Qo (D) S 4 BIs ol

Q 87. <ig § ST & & YT 39 HR &-
(A) HH g1 (B) gfeerft
(C) PIS 3R gt (D) &I 99 A Bls Tal

Q 88. Hiw faraep Y U § ?
(A) TS + T
(C) T + URT

(B) ®IR + ¢
(D) g + 3id

Q 89. WM A TUT XA B & &1 Bt gt 240 fpmit g,
U YISl B oI aF R H Hal ol G0 4 B gl ol
YS! 1 a1d fhaHieR Ufd der Id & -

(A) 40 km/h (B) 60 km/h

(C) 80 km/h (D) 120 km/h

Q 90. Ffe ¥ WS TIfh1 & W § A T g V/S
T &1 W FEffad & 3 gnm -

g Al
qay HHY
(©)

et

(D)

qHg

(A) (B)

Q 81. Amarbel is an example?
(A) Autotroph (B) Parasite
(C) Saprophyte (D) Host

Q 82. Which part of the plant obtains carbon
dioxide from air for photosynthesis?

(A) Hair roots (B) Stomata

(C) Veins of leaves (D) Epithalamus

Q 83. Fat is completely digested in —
(A) Stomach (B) Mouth
(C) Small intestine (D) Large intestine

Q 84. What is silkworm rearing called?
(A) PC culture (B) Sericulture
(C) Viticulture (D) None of these

Q 85. The boiling point of water on the Kelvin scale is
(A) 37K (B) 298 K (€) 373K (D) 100K

Q 86. Neutralization is a chemical reaction, tell
between whom the reaction takes place -

(A) Acid and alkali (B) Acid water

(C) Alkali salt (D) None of these

Q 87. After rusting of iron, its weight will -
(A) decrease (B) increase
(C) No effect (D) No, none of these

Q 88. Bronze is whose alloy?
(A) Lead tin (B) Copper tin
(C) Iron mercury (D) Iron silver

Q 89. The distance between station A and station B is 240
km, the total time taken by a train to cover the distance is 4
hours, then find the speed of the train in kilometers per hour

(A) 40 km/h
(C) 80 km/h

(B) 60 km/h
(D) 120 km/h

Q 90. If a car is parked in the parking lot, then its
distance V/S time graph will be one of the following -

[l
e
=

0y g g

®) () (©) (D)




Q91. (-31) = [(-30) + (-1)] =?
(A) -1 (B) 1
Q2 (D) -2

Q92.5+05+0.005+55="7
(A) 11.05 (B) 11.005
(©) 11.0005 (D) 11.5

Q 93. 500 &T 50% &1 50% F1d faforg
(A) 500 (B) 250
(C) 125 (D) 578 A BIS e

Q 94. 420 x 420 HIHE NN
(A) 421 (B) 820
(€ 24 (D) 440

Qos. aR ¥+ L=a7 @A (x4 )22
(A) 243 (B) 343
(C) 49 (D)7

Q96. Rumu A Ay +z=7
(A) 55° (B) 125°
(C) 250° (D) 379 ¥ PIs g

Q 97. U T g0 & Brsa 14 ier § au1 1 Fiefier BHifed
FRA BT W 2 5 71 <l SIhd U &1 BHifdd B &1 Hdl
T4 FUT H gh -

(A) T 1540 (B) ¥ 1500

(C) T 760 (D) 1560

Q 98. TYH T MY TS BT 3T 1 PO -
(A) 12.9 (B) 12
(©) 12,5 (OESERKIEET]

Q 99. Ty H Hof faepuil B T gt -
(A) 5 (B) 6
@9 (D) 15

Q 100. FEfied & o G Tem 3 9 yold: w8
(A) 47892 (B) 45369
(C) A 3R B fet (D) 39 A BT Te!

Q91.(-31) = [(-30) + (-1)] =7
(A) -1 (B) 1
©2 (D) -2

Q92.50.50.00555="7
(A) 11.05 (B) 11.005
(C) 11.0005 (D) 11.5

Q 93. Find 50% of 50% of 500
(A) 500 (B) 250
(©) 125 (D) None of these

Q 94. The value of 4%° x 4?0 will be
(A) 421 (B) 820
(C) 241 (D) 440

Q5. Ifx? + % = 47 then( x 42 )3=2

(A) 243 (B) 343
(©) 49 (D)7

Q 96. In the given figurey + z = ?
(A) 55° (B) 125°
(C) 250° (D) None of these

Q 97. The radius of the given circle is 14 meters and
the cost of shading 1 square meter is % 5, then the total
cost of shading the shaded area in rupees will be -

(A) ¥ 1540 (B) ¥ 1500

()X 760 (D) % 1560

Q 98. Find the average of the first ten prime numbers -
(A) 129 (B) 12
(© 125 (D) None of these

Q 99. The total number of diagonals in the given
pentagon will be -
(A)5 (B)6 (O] (D) 15

Q 100. Which of the following numbers is exactly divisible by 3
(A) 47892 (B) 45369
(C) A and B days (D) None of these



